Jodboboobotobtobtobobotobouobogn
~O0o00odododododououogn ~

M2010MMoO41 OO OO
goooooo o

1 00o0n

0000000000000—0000000000
0000,00000000000000000000
0000000000.000,00000000000
00,00000000000000000000000
(1. 00000000000000000000000
0000000000000000000,000000
00000000. 0000000000000000
0,000000000000000000000000
000000000000000000 [2[3. 0000
0000000000000000000000000
00 1040000000000000000.
00000000,0000000000000000
000,000000000000,000000000
0000000000000000000000000
0000.000,00000000000000000
0,00000000000000000000000
0.000000000000000,00000000
000000000, 000000000000000
0000000000000000000000000
0000.000,00000000000000000
0000000000000000000000000
oo.
00000,000000000000000000,
0000000000000000000000000
000000. 000000000000000000
00000,00000000000000000000
00.0000000000000000,000000
000000000O0o0o0o.
000000000,000000000000000
0000000000000000000000000
00,00000000000000000000000
0,000000000000000000000000
00000.00,000000000000 0000
0000000000000000000000000
0,000000000000000000000000
0000000000.000000000000,00
oooooo.
00,0000000000000000000000
0000000000000000000000000
00.00000000000000000000000
00,0000000000000000000000.
0000000000000000000000000
0oo0o,00000.

2 00O0o

000000000000,000000000000
0000000000000000000000, 00
0000000000000000000000000.
0000000000000000000 CcCDOOO
00000000,00000000000000000
0000000000000000000000000
000000. 000000000 zm), 000000
00000 Lym|,000000000 6 ,frad], 100
0000000000000000 rem[m 000 20
0000000000 00000000000000
0oOooo0o0o01000.

U1 200000000000«c0000000

3 0O0Oodg

gboboobobooobooboooooboooooboo,
goooboooooboobooooooa.

Doooooo
50(8) = Azu(t) + Bua (t) "
Yo (t) = Czy (1)
0oo. 000,
01 0 0 0
67 qrm
Lo |00 e 0 o
00 0 1] 0
Beg A
00 o B o
C=[1 0 0 0}. 2)

DDDDzﬂﬂ:[z@ B(t) Ora(t) ﬁAw]ﬁmm
00 y,(t) =2(), 000000000 ug(t) = Vi o(t) O



00.00,y0000000000000000000
00000000000000000. Ry,[m00000
0,¢m/s?)000000, 4,[Nm/A]00000000
000, Beglkg - m?/s| 000000000, Ju,kg - m?]
000000000O0o00o0.

4 OD0O0OOOoO0ObObDOoOoOn

DDDDDD,D(UDDDD,DDDDDijﬁi;ml
0000000000000000000. 02000
00000, R(s),Y(s),E(s),V(s) 00000O0DDOO,
00,00,00000000000000000. 00
G(s)00000 P(s)0000000OC(s)00000D0
0000000000.0000000000 G(s),e %
oooooooooOoO,

B(s) = R(s) ~ V(5 Q
V(s) = e B (@
Y(s) = G(s)V(s) )

obooooooo.oooo

E(s) = e " F(s)(I + G(s)) T E(s) + De(s)  (6)
De(s) 2 (I +G(s))"H (1~ F(s)e™™)R(s)  (T)
000.0000000000,02000000000

000o0o0o0oU0o0.0ooOdoD (6)oboboooooo
gboooooboo,obooobooboobooo

e ™ F(s)(I +G(s)) ™" [lo< 1 (8)

000. 000000 0000 e &% =10000
(8)0ooooo,

I F(s)(I +G ()" [loo< 1 (9)

00000. 000, |lewd He-0O0O, 0me(M) O
00 MOOOOOOOOO.

001 [I+G(s)'G(s)0000000000.
00 2 || F(s)(I +G(s) ™" |leo< 1.

BEA RUELBlEE | i)
B O E o oG : 4
-7 Efiit%ﬁfﬁi% HstE E
() e

Gls)

02 0000000000000

5 Uouobboooobo

oboob,400000000, 0000000000
gbooobg. o0 stepd000000O0D0OODO.

stepl: | ([+G(jw)) 100000 Q4 :={w:w < w}
gl1oooboboooboo,boban

1T+ G(jw) [>1:Yw e Q (10)

00000000Uo C(s)yDoooo.

step2: |I+G(jw)| 000000000000 |F(jw)| O
00000000000,0000

[T+ G(jw) |>| F(jw)| : Yw € (11)

0000000 F(s)D0O0O.

5.1 000 C(s)000
0000 P(s)000000000. 0000,

P(s)=C(sI - A)™'B (12)

000 C(s)0000,00000 HO KOOOOooo
goog.

{ Z.(t) = (A — HC) £,(t) — Bug(t) + Hu,(t) a3)

ug(t) = —K5,(t)

000, ug(t),v,(t) 00000 C(s)0000, C(s) 00
00,K0000000000000,H0000000
ooooooon.

100 (Y2, A)00000000000000000
000000, Riccatti 0O O

A +32AT + o - xCToy =0 (14)

0000000000 X00000,

H=3xc” (15)

oooog.
2 KO,20000000

i= T WO Qu(t) + ut)Tu®)dt (16)

ocoooobooOoOoOoOoOooODOOOobObobO KOooo.
oo0,QbO0000000000O.

K=BTP (17)
OO0, PO RiccattiO O O
ATP4+ PA+Q—-PBR'B"P=0 (18)

ooooboooooboon.
000000000 Q00 (10ooooooooo
KOOD.O0OoOooooooooo,o0o0o0000000
oo.



5.2 0O000O0OO0OO0OO0OOOOOOOO0ODOO0OO0

50000000000000000.
1 ®=diag[5201090]0000,0 (14)00000 HO
ooo.

T
}J::[ 444 738 3.57 0.0238 } (19)

2 Q=diag[100 10 20 0], R=10000, 0 (18) 00,
000 KOOODO.

K= { 100 106 5.56 0.377 } (20)
500 step20 0, F(s) = 17,7 = 02000 [14+G(jw)|
0|F(jw)0000000000000.0300, 1+
G(s)|0 F(s)00,000000000000. 000
C(s)000000.

11118 (deg)
f 2

107" 10° 10' 10° 10°
BUEM (rad/sec)

03 [1+G(jw)| 0 |F(jw)|DDDO0DO0O

6 U0OOO0OOOo

0000,5000000000 C(s)0000000
00 F(s) = 1,7=020000000000000
00000000. 00 L=10,w =2, x0000
000000 z = 0.1sin(wt), yD0000000000
y=0.1cos(wt) 00, 200s|]0000. 0400,000
0000000000000000000000000

gooo.

| — simulatio
0.1
E
=, 0.05
(0]
£ 0
Q
&
& -0.05
o
-0.1]

-0.1-0.05 0 0.05 0.1
Dlsplacemer)\(t[m]

04 ODO0000000O00000

v ooobboooobbobooon

goog,bobooobooboob,obobboob

gobooobooobboobboo. ooboboo
gbooopooobg,gbooooboobobooobobo
gooooobgobooobo,boboboboo,goooo
goobogooboooboboo. ooobbooboboo
ooooboooooboon.

71 0O000O00OODOOO

000000000,000000000000,00
00000000000 10000000000000
000000000000,0000000000000
000000 N0000,1000000000000
0000000000000.00,000000000
00000000000000000000,00000
0000000000000010000000000,
00000000000000 [4)5).
00000,0000000000000000000
00000000000000000,00000 Apas
ooo.

7.2 00000O0OO0OO0OOO

gbgoo,0ooobobooboobgobononoon
gooboogoboo. ggobooobobooboboo
go.

Azxk_H = TAZxk (21)

oo0o,00Troobooboogooooooboooon,
Az, 000000, Az 0 10000000000
oooooobOoooooooboooobOoo. TooDo
goboooooooooobo,ocgboo,oo0a0o
Oooooo0o0ooooO0.0ooo00ooo noooo
gooooo:

II={z €R' 2z €Rzr=0y>0} (22)

o0,10000030000000000000000
o.70bobo0ooooobooo,obooo,oboo
ooooooooooon.

oboooooboobooboooooooooooooo
oobOooooooooboooobo. obO,000 20 =
pOoOo00T00O0O0O0O0O0O0O0O0O0OODODOO,1
gboooooooobooboboboboooooooonoog
0.00000000,0000«@) 00000000,
1000000000000 00DbO0O0O0b0b00DbOD
goobgoo,3000bo0boorooob 1000

T
DDDD.DDD,A%k:[l 00} 00oooo
00,0 (21)00,7T0010000000.00000
T
DA%k:[O 10} 0000000,700200

ooo,00boooob 3ooooobrooooo.
goooboooosboooo,oboooogooooo
ooooooooTrooobooboooooboog.



goboo,00000ooooooooboooon
000000ooDooooO0og,TO M 00000
gboooooooo.

7.3 0OO00OO0O0OO0OOOOO0OO0OO0O0D0OO0

r2000000000000.000000 5200
gboooooobo.Tooobooooon.

—-0.051 —-0.087 —0.036
T=1| -027 -046 —0.19 (23)
-0.27 -045 —-0.19

000,00000000000 Mae =070000, 1
000000000000000,0000000000.

8 buuuduobbbuooobobo

gsbobobobobooboobooooooboong

ooooooo K, 00000,00000000000
oooooOoooooo K, 00000.5000000
ooboooo, K, 000000.

BEAH 4

+

" BB BIEE

+
p &l P(s) —>
]

+
TELWES  HIEHR

0s5 K,0ooooooo

K,=1000
084 14 059
T=| -027 —046 —0.20 (24)
—0.67 —11 —0.48

Amaz = 0.12000,73000000000000000O
ooo0oooo0o0ooooooooo. 00000 K,O0
oooooooooooooooon K,00000. K,
0100200010000000.0600 K,=1.2

0.7

06 K,0OoOoooOooOOo

00, \nex =0.001300000000000000O0.
40s], 000000000 DOOOODODOOOOOOO

o.g7080b0ooobogs8sbooooboooogon
oooooooo.

[—2zav-2q ESDEFEDR)

Displacement ]

-0.1 -0.05 0 0.05 0.1
Displacement  [m]

-0.1  -0.05 0 0.05 0.1
Displacement [m)

07 K,=0000000028K,=12000000
goooo googno

9 00O

ooooo,8s0ooboocobooooobooobooon

oooboooobooboooobboooboooob,oo0oon
oboo0oooooobo. obobobobobooooo
0000000, 000000ooooo0. ooo, 100[s]
oooo. 0900 100000000 10000000
oooobobooobooboooon.

m]

Displacement

0.1 -0.05 0 0.05 01 0.1 -0.05 0 0.05 0.1
Displacenent  [n] Displacenent [n]

09 K,=0 010 K,=12

10 ODOO0O

gbooboobooobooboooooboooooboo,

gbobooboobobobooooooooooooog
O000D M OODOOO,000000000000.
O00,000000000000000000000 K,
goo,00b00booooobooooboooboon.

goon

[1] 00,00,00:00000,00000000, 1989.

2l DO0O0D0DO00O0OO00O0O0O0ODOOUOOUOOOOO
Oo,0b00o0o0obooboocooobooon, 1997.

3] 00,00,0000000000000000000
00000000O000,00 AEMOOO, Vol.15,
No. 2, 118/124, 2007.

[4 OO0 0000000000 0OO0O0OO0-00O0
gugboboooobboodab—- bbooabboad
obooooboooo, 2008.

[p) O0O: 000DOOOO, 2005.



